t}¢ 7o) 4 PA, PB
/ACB ] 37 F5jofet,

» E: °
> =g 65°
/AOB = 130°

~ LACB = %X 130° = 65°




e 2-NA £z 9 2718 Fatelet (B,
9l e

\VARR 4
0
i

100

B ~

HO,EE0oExAHE O0H
/AOE =20x2 =40°, tEOB = 30 x
2=60°

.. .z = (AOE + /EOB = 100°




3. U 2™ x+y+z 9 w2 F5tofet.

P
™
N
_—
= °

1
x© Zo: 5)(180:900 ’yo: 180° — 60° — 90° = 30°
~ x+y+z=90°+30°+90°=210°




< I8 A .CQD = x° Q

o}
2t & o, x 9 #& 5o /m
ot A " p

i
o

\VARR 4
0
i

. 40 °

e of| A doj7t 22 Do tiet Ao A7) = EoBE=E
/CQD = /APB = 40°°]|t}.




ot 104 © CD 9] Zol7} 12¢m ¥ D

o, & AB 9] Zo]& ot} A
B L TCm
N,
= cm

>
> ®eh: 4 cm

N\
90°:30°=12: 5.0ptAB
N
. 5.0ptAB =4 (cm)




oh2 28 v H A,B,C,D 7} ¥
Hell A& o, x+y 9] 3FS Fstofet.

i
o

/PBD = /PCA ©|E& x =25
y=25+35=060
L x+y=25+60=285




e TRNA Lx, 2y o] 2715 Fatolat,

it
o

i
[

. Zx=100°

v Vv v Vv
0
L

0x
o

L Ly=97°

B

Lx + 80° = 180°

- Lx = 100°

/DBC = 180° — (45° + 80°) = 55°
o Ly = 42° 4+ 55° = 97°




o0& 23" 9 9eA
5.0pt24.88pt@ ol dol=d
292 500 24.88Dt6aD o

Z9] g ol W, JADC+ /DCE

3719] Fe Fafelat
*

N

o]

rr
o

[
H -

o

9
>
>

HMEFlo132°

B

(ABC = 180° x ; =120°

(BAD = 180°><§:72°

- LADC =60°
(DCE =T72°
(ADC + /DCE =60° + 72° = 132°




O 2" FoM vl A A, B, C, D7 gt € 9ol Al ==

A

Folat,
H7]
b
°

<N
=

@ «BAC # /BDC
© /ADB # /ACB
© /BAC = /BDC = 90°




10. o3 Az ABCD 7} Yol Hd S o,
La, /b 2] 715 2|2 Fstoiet,

o
| o

70°

v VvV v Vv
0
i

0x
o

140°

B

5.0ptBC off thgt PF2to] B sa = 70° o]
ABCD += o FH4ZIgo|l g
/CBD = £/CAD =T70°
(BAD = /b
/b = 140°




